1 IR

T &%) RitFDOHNTHONT

Jml

F CGER) KEFEOARICEI VMY E-1ERIZ. fEERISMD
DN Z Z TG BN D DT80, é&%ﬂ@ﬂ% \ZH7- - T,
By mf%%ﬁot@AXi@A BiT5 1 RFAAICES H O
L. AEEEIZEDLLT [FE=F~DRMTE] ZiTDR\W\Z

N O\ % H

o

Tl R



Eiila

ARE (AR01)

T4 |R6FL G R - A sedq B BHERERS FEXS B MERR - fETE
THERXS B HEHMERT
TEXSy - TFE - &R - 5] HAAL iy Bl &FA B - BEHER T
T8 HEHMERT
= 1 1, 659, 830
1 B IE L
= 1 145, 750
B EER L
= 1 88, 500
B (B A7) RN T, BER R D70 e
km 5 17, 700 88, 500
HEAK s 7 T
= 1 57, 250
RS () [EZZ IR s [
m 50 1,145 57, 250
FREE T
= 1 1, 192, 800
TE R T
= 1 1, 192, 800
TERBREL (A TFEIRRE a2 Y=
m2 8, 000 129. 1 1, 032, 800
FRECAL Sy B 45
m2 8, 000 20 160, 000
SN EALER T
= 1 114, 280
IESLEEE T
= 1 114, 280
B E D ERE N 1e
= 1 114, 280

=N

CEY
iy
m




Eiila

ARE (AR01)

T4 |R6FL G R - A sedq B BHERERS FEXS B MERR - fETE
THERXS B HEHMERT
TEXSy - TFE - &R - 5] Hiks HAAL iy Bl &FA B - BEHER T
e T
= 1 207, 000
AR E BT
= 1 207, 000
AR B BB 57
AH 15 13, 800 207, 000
[EREARE Xy
= 1 1, 659, 830
IR
= 1 519, 000
g (Ri L)
= 1 519, 000
T
= 1 2,178, 830
Bl s PR
= 1 1, 481, 000
T 25U
= 1 3, 659, 830
— RS EL
= 1 836, 170
TS
= 1 4, 496, 000
T BiAR K OVl D7 T 2 B4R
= 1 449, 600
T
= 1 4,945, 600

=N

CEY
iy
m




S — BAAMAE A A 2024. 04
it(\é/[ D P;l E‘Ri BEEAEA  [2024.04
H S TR AR 1. 000-00000 0.0 0
HEEEEWERE
A
LFR - K ek BN B BTl & B - AKEHE L
avy)=h INRIREES, N TR, 18-8-25 (& IF
), —fREA L, 2 TCOEH
m3 1 35, 480 35, 480
B — I, NS )
m2 10 7, 880 78, 800
&t 114, 280
7oL I I




N Ny 2 A 4 A 2024. 04
1 /ﬁ( @’fﬂfﬁ%é At H AF A 2024. 04
SRR 1.000-00000 0.0 0
Woo1e R (- A F7) VEZETHE: N ), BB & D7
==y km AT S ] HAA 17,700
LW - B S ==y B HAA & SE
R (EH - A1) D
km 17, 700 17, 700
aat 17,700
Hifilh 17,700 M/ kn
N AW B A 2024. 04
1 /ﬁ( @’fﬂf]?é A i A A 2024. 04
TR 1.000-00000 0.0 0
WoooR SR (A1) VESEIHE: AT, TS ZIRMG 2 2V
/) - BT m AT S ] HAA L 145
LW - B S ==y B HAA & SE
MR A ER D) B av))-1&
m 1, 145 1, 145
&) 1, 145
B 1,145 M/ m
-4 - 7oL I I




N Ny 2 A 4 A 2024. 04
1 /k @’fﬂfﬁ%é At H AF A 2024. 04
SRR 1.000-00000 0.0 0
T THERE (EA) VESEIHE T HhaC
==y m2 AT S ] HAA 199. 1
LR - B S ==y B HAA & SE
HEMR L OF $hX0) - 50 BIA TE O, 807 Vo) Gve=h -7 4~ V-2t
), 11. 5kmPA T, 2 CTOEH
m2 129. 1 129. 1
N 129. 1
B 129.1 | M/ m2
N AW B A 2024. 04
1 /ﬁ( @’fﬂf]?é A i A A 2024. 04
TR 1.000-00000 0.0 0
o | BRELALSS
B 455 R T N o s
BAAT m2 BN SR 1, 000 B 20
LR - B S ==y B HAA &HE SE
LGy (t)
t 20, 000 20, 000
it 20, 000
B 20 M,/ m2

5
I
lﬁ




1 R EAfh =%

AL

Y3

HAL

AH

A E FH A A 2024. 04
A FH A A 2024. 04
SRR 1.000-00000 0.0 0
1 S 13, 800
& SE
13, 800
13, 800
13, 800 Y ONE

5
I
lﬁ




